)

(1)

)
3)

4

)

(6)

(7

10.

E|""f—3'~‘<’1":l/ Class — X
fasr — wrisie fasI9 / SUBJECT — SOCIAL SCIENCE
faS HIs—217 / SUBJECT CODE-217

gfiaer1 / History
IS5 U3 / Objective Type Questions

Rad =l &1 gid & —

Fill in the blanks :-

1867 30 H HTRT T oo HS QAP DI AT DI |
In 1867, Marx wrote a book named ............ .
ARG T BT & YT 37egel W g g7011 Ud a7 |
1830 @I BT D TG oo Wi &l ST G417 |
After the Revolution of 1830, ............. became the Emperor of France.

feq TR FAGT BT YN BRI oo
The head quarer of World Health Organisation is at .............. .

RIS 9 SR @BV RATTAT o g H B E |

National Labour Commission was Set up iN...........cccceuvennn.

..................................... . Y fdeq AUR GAT BT TS T3 |
World Trade Organisation was set up in..........cceecveenneenne

..................................... Hpae dME Aed I Il B |
.................... wrote the play “Macbeth”.

TAFAUSTIT AT UBAT fATT FTOTR e P gRT AU fHar |
The first global market Alexendria was setup by.................
feq anfdfs HBT....ooon I ¥ IMRA ZaTT |

The global economic crisis started from the country................. .

A <2l fadcd &1 g9 B —

(M

Choose the correct option :-

fReIBR Blerad o fhad! et @
(a) 94 (b) 3FRPT  (c) 3ol (d) X1
Christopher Colombus discovered .................. .

(a) India (b) America (c) Italy (d) Iran



2)

3)

(4)

©)

(6)

(7

®)

)

10.

11.

a9 5T BT ATHR bd gAT oAT?

When was stream engine invented?

(a) 1750 (b) 1769 (c) 1717 (d) 1720

ORI AT B BT 7o fhd 8. H o a1?
When was stream engine invented?

(a) 1944 (b) 1939 (c) 1945 (d) 1950

Uq ﬁv_\'zl'ch VT WET AT AT g7

CORUSHE! (@) fafea= WESIESE (&) rferg® A
it sii~d Ay fhy <9 H g off ?

() gTeivs # (@) ST A () wivr | (=) arfReT ¥
T i Yol BT S d [ HET AT 7 7

(@) dax faferm fgd @) fowm®

() R (=) =4

1942 30 W WIRA BIS! 3l & SR 3MTOIE ST BT TS T o ?

(@) w00 TMUTe (@) eI d

(1) ST UPTI ARTIT (8) STa1ey ol 8%

3RS AR fhaT |AT DT TS+ gar of ?
(@) 1935 (@) 1936 (1) 1937 (&) 1938

aifer sfvear ¢ gfae & arezer o ?
(@) T AT A (@) o= U9
() TH0 Silo ¥ (&) ATl ST M=l

9o fI¥agE & RO Hoigel B GM bl ofi?
(a) faTre (b) e (c) ®1g URadH 7TEl (d) I8 T~
The condition of labourers due to the First World War become

(a) Worse (b) better (c) no change (d) Very prosperous
faeetl gal &1 R fe fear ?

(a) TSI M HIET Y (b) AZTHT el (c) 99N I 9 (d) S1&T 91R AARISl
Who raised the slogan “Delhi Chalo™?

(a) Raja Ram Mohan Roy (b) Mahatma Gandhi (¢) Subhas Chandra Bose (d) Dadabhai Nuroji



(I11)

av)

(d) 23 #Td,1932

(d) 23 March, 1932

12. a8, I90® &R gued & fde 3T ®iit g8°
(a) 23 HTH,1929 (b) 23 ¥TH,1930 (c) 23 ATH,1931
Bhagat Singh, Rajguru and Sukhdeo were hanged on?
(a) 23 March,1929  (b) 23 March, 1930 (c) 23 March,1931
|l A1 Ted fad —
Write ‘TRUE’ or ‘FALSE’: —
(1) RS HIfd 3 -ar AEEa Tarka o |
(9) faoI® Td USRI 7 8%l @l JTRlel- TefrdT |
(10) U9 Y 3BT SR HT YIS AHEE o o |
(11) IR AT ¥ Geli =l BT AT Yo off |
fa g SA¥A 93/ Very Short Answer Type Question
(1) GUR T<IeH & I3 Ieed T o7 ?
(o) e & YaamRy & g &1 ufdures fea- faar ?
(3)  FTASINRYT | 31T RIT FAHSIA & 2
(4)  STON & UBIHRU & A T AGD DDA & ?
(5)  TEATE BT ATERVT RAT © 7
(6)  oTHT UF W MY 9T HHSK & 7
(7) W B BT B ST BRO Jargd?
Mention any two causes of French Revolution.
(8)  IIFCER Hif A AT T FHN 77
What do you mean by October Revolution?
(9) TR & o™ R AEfe Hifd S =7 99| g9er?
What was the impact of Industrial Revolution on the growth of cities?
(10) 3iEfe Hifd Fad g8 STeive # Tl g5°
Why was Industrial Revolution first started in England?
(11) 1929 & & # & I RO FAY?
Mention any two reasons for 1929 Economic Depression..
(12) ¥R W FSABIU B T ABGRIHAD FATG IATRY |

3



Mention any two positive impact of Globalisation on India.

13.  JRU P < <A DI H I |

Name two countries of Europe.

14, 9RT BIGT AT’ BT UK He IR g7
When was the resolution ‘Quit India Movement’ passed?

15.  ‘gEU@dell S¥R Pl <1 g3 A8HaH o [ Pal?
Who said ‘The art of printing is God’s greatest blessing’?

16.  ©UTS BT 3™ BHal gafl of?
Where was printing begun?

17. UM | M9 w1 FH 87
What do you understand by a colony?

(V) g S<iII 931/ Short Answer Type Question

(1)  Sufderare & oo @ HEE § 7
What do you understand by a colony?

(2)  oiENfe I 2eq BT YART FaH Ugel (b fhar a1 ?

3)  fOueT AW @ FaT Suterdr off ?

What were the achievements of Vienna Congress?

(4)  onfe SfENfraTdRoT I 3T R |Hed & 2

(5)  FAGITRY & Pis AR YRUMAT &7 fauia BT |

Describe any four results of Renaissance.

6) ST @ UBIHROT BT Aol SR |

Describe the Unification of Germany.

(7) YoM fIvd 4§ @& BRUIT & ARAT B |
Describe the causes of First World War.

(8) T I H U BT ARG W GHTY STl |

Explain the role of Press in the present age.

9, e T Uil | MY T FHS 7 ?
What do you understand by ‘Boston Tea Party’?

10. g I BT RATUAT B MMAeIHAT R A8 DI TS?

Whjy was it felt necessary to set up ‘United Nations’?

11. 9RO T BRI @1 WOl &7 SE3d T 87

What were the objectives of setting up Indian National Congress?

4



(VI) < S99 939/ Long Answer Type Question

(1) T fovreE @ a1 HRimA o ?
() UK AY B W S T § 7
(3) IR =T & e Ud Hral &1 quie HIfvTg |

Describe the composition and unction of the International Court of Justice.

(4) @Rl Ud 9wR Siieie W TP e ford |

Write an essaru on Swadesi and Boycott Movement.

5. JUIRIeR U Qae’ 9 MY a7 FHed § ?
What do you understand by ‘Vernacular Press Act’?

6. ST 1T SATHIVS Bl YR SIS H Bl AT’ a1 Hel Sl 87
‘Jalianwala Bagh Massacre’ is called the ‘Black Chapter’ in Indian History.Explain why.

d / Geography

(I Raa ¥IAr &1 gfd & /Fill in the blanks.

(1) 3P o YHR & BT B |
(2) BT FD oo BT § |
(3)  ®rell e BT R AH =
(4) AT o AT BT BT 3 |
(5)  TRATTT BT SERT oo AR ¥ 83 ¢ |
Himalaya emerged from .........ccccceevevvencieenciieennen. Sea.
(6)  TIETOT WRA BT AT TACT oo =
The highest peak of South India is .......ccccoceviiniiiiininiinne.
(7)  WRA BT TGO T T M AT e =l
The Longest N.H. of India is .......ccccvvvvevveeniiiniieiieenne
8 £ L P HAEA & |
GramiS @ ....ccoeveveveveeneieeiienieenieeeieens crop
9 FUTS H 1950 oo HaT YR T |
.......................................... service has been started in Nepal since 1950
10. fERIRA D o ART H Rerd 7 |
Bihar is situated inthe ........ccoooeeiiiiiii part of india.



D) 9B fa®mcy &1 g-I1d B/ Choose the correct option.

(D

2)

3)

“4)

©)

(6)

FY IUEHAT T I[ore H IfE g5 —

(@) R I A (@) A% Hifa o

(M) <= | (@) fo=dt & 72T |

RIS fRATaT RT & FIH feal € |

(@) BT (@) e

() gRTel CIREL

Hrell T &1 W 94§ —

(@) < gt (@) v fet

(M) e g (=) IR e

ATIER € 9RA & bd Iod 9 Rerd 77

(a) TTACTg (b) T © TR (d) PR
Malabar Coast is situated in which state of India?

(a) Tamilnadu (b) Goa (c) Gujarat  (d) Kerala
AR T8 o Ao 91 77

(a) fo=1 (b) cifes (c) 3T (d) BT
The word Monsoon is derived from which language?

(a) Hindi (b) Latin (c) Arabic  (d) Persian
b 1 BT f[8R &1 Wb el ATl 27

(a) TSP (b) I (c) IrmfaT () |
Which river is called the Sorrow of Bihar?

(a) Gandak (b) Koshi (c) Bagmati (d) Sone
ERITS & e OTHT ofcl DI RIT Bl &7

(a) FIF STt (b) Y& (c) WS I (d)THHN T
Water deposit under the earth is called?

(a) terrestrial water (b) pure water (c) sweet water (d) salty water

ged] BT AT U8 FAI HEd 87



(a) ST BT ARYHAT (b) T BT ARYEHAT (¢) I T ST B SABAT (d)ed a7 Tl
Earth is called the bule planet due to its

(a) excessive colour (b) excessive water (c) excessive cotton cloth industry (d) indigo cultivation

9. fava & warew RER &1 9™ =1 87

(a) ATSTE UG (b) AISUE 3T (c) ATIUC ISl (d)HISUS & 2
The highest peak of the world is

(a) Mount Everest (b) Mount Abu (¢) Mount Kanchanjunga (d) Mount K2

(IID) ¥ AT Teld A8 Y:

(1) e o=f I FEIR # srafkerd 2|

(2) TfedN 3ifes YRa &1 Wared @l & |
(3) e et e @ Rexfa ey 2

(4)  9RA DY IMRABIE q9f §TA B WIS H B B

AV) sifa oy SO y¥1/ Very Short Answer Type Question

(1) ®RGRA ydd & Aqd Sarg feah g 2

(2) <OR P TRE TS A ATl USTS! BT R HEA & 7

3) vwafgdg R @ AT fHIRI W 59 geR & adg A9 UT O § ?
(4) e ey T AHe § 7
(5) 320 fHoHo TH ®T & nffF &5 I HEear ¥ ?

(6) fawa &1 Ad_GH AR Udd fHd BT ST 7 ?

(7) WRA @ YAl T Bl fb1 AN F ST ST 27

By which name the eastern coast of India is known?

(8)  Seel | B°
What is Delta?

(9) 9Rd B o a1 e=f | S # auf gxfr 27

In which two areas of india, winter rain occurs?

(10) I Ud SURT & MR W A9 © YHRI & A9 ford |
7



V)

&y

(12)

13.

14.

15.

16.

17.

Write the names of types of resources on the basis of source or origin.

IR Y @ 3T T FARN /7 87

What are the two main problems of Indian Agriculture?

83T 3T & U faftrt &1 AW 9arsy |

Name the main methods of Regional Study.

SARIT &5 H fAaRId 89 dTel 99 &1 T Hed &7

What are the forests growing in tidal areas called?

TH=Y NG 319 T A9 7

What do you understand by contour line?

fa < 1 Rag @1 9" Pl oar § 7
Which country is callsed the ‘Gift of India’?

ST TSP AN BT @G DI HIAT &7

Who looks after the maintenance of State Highways?

T FFEI0 & 9@ RS B—DHF F 57

What are the main factors of soil formation?

oY 3R 9349 / Short Answer Type Question

(1)
2)
©)
(4)
©)

(6)

(7

®)

10.

IRT & FAYHA N BT UR™ B AR 6 =l & d/9 gar o ?
HIH I Nold &3 BT AW A |
farer uda 2ot & vRa fasivart qant |

IR ¥ Y & fAfr= geR &1 9m 9arig |

TRT § I8l ST el & [dard &1 9o x|
Explain the development of Iron and Steel industry in India.

URaTEd Ud H9IR &1 8 Id1sy |
Mention the importance of Transport and Communication.

TATQE BT GHTIeT fIRradmall &1 goid BTy |
Describe the geographical feature of Bangladesh.

fIeR o vgE AT & W ford qorn f&dl U @1 faRar qard |

Write the name of the main rivers of Bihar and describe the features of any one of them.
@ex 3R TR el # iR e o |
Differentiate between Khadar and Bangar soil.
STAEIT g 400 W BH Y™ & A g |
8



Name the state which population density less than four hundred.

1. YR B @1 IR ygE fRmaRll &1 Seed & |

Elucidate four importand characteristics of Indian agriculture.

12. SR & A 9oR -39 | 87
What are the different types of industry?

(VI) <rd S99 91/ Long Answer Type Question

(1) T WR W MUST Y&u9 & B Fa—a T & 2

) fIER @ AMfers SRET BT Scord B |

3) frifed &1 9Rd & A W) @Y / Mark the following on the map of India
(i) ®iwvT e/ Konkan Coast (ii)TH&T 7al / River Narmada (iii) T7.99.—1 /N.H.1
(iv) STHRIGYR / Jamshedpur (v) AN =< 9INT gaT$ 3S<T/ Subhash Chandra Bose Airport.

4. IRD & AERA § 7 A SAH ueTl B R vd Re- e HiReR Anf 9ard |

On the map of India, show two sugar producing states and also mark the East-West Corridor
Road.

oA a3 / Political Science

(I Raa Al &1 gfd & /Fill in the blanks.

(1) ST H IR T B AT e oI GRferd 2 |
(2) A H AEA AR B RLATH G e 9y 2|
(3) IR SIfed &7 AR ... o |
(4)  TRAGE B e dge |
(5) ART H Aldbas IraT AT ® |
In India we have ........cccceevirieniincnnene. democracy.
(6) BfeEE T o g # WRA ImaT |
Cabinet Mission come to India in the year .........c.ccceceveeiennene
(7) g QU URYE & TSR o HEA T |
The Member of State Legislative Council is called ..........ccccceceeveeiennee.
8. SURTEURT ST THT BT oo BT 2 |
The Vice Presidentisthe ....................... of Rajya Sabha.
9 L RIG S DI ATAHATG] THAT AT |
There was a terrorist attack on Americaon ........................
10.  #ARARYE BT FRIBIA T8 AT T T oo T V& & |



The tenure of the Cabinet Council is same as thatof ........................

D B fa®mcy &1 g-I1d B/ Choose the correct option.

(D

2)

€)

(4)

)

(6)

()

(8)

)

e AT BT ARVHR BT IJooig f&ar a1 8 —
(@) STJa— 2528 (@) Tea— 26—29
() srgees— 32-34 (&) Srfeea— 3538

ST 94T Al bl 9T § —
() 250 (@) 560
(1) 500 (=) 249

AHTIT BT BIRIBIA BT & —

(@) 4% a9 (@) 5 a9

(m) 7 ad (=) 10 a9

Aiferd PR fo aRRefa # saffra fag o9& & ?
(@) 18 o (@) g A

() Hhchre J (=) 4T 41|

3R H 3Tcid] BHeAT §oT o —

(@) 2007 (@) 2005

(1) 2009 (d) 2008
1688 30 ¥ RAYYl HIf<T g8 off —

(@) STH-T H (@) sTeive #
() wRa # (=) < ¥

FAN AT H A I aY B by Aew 87
How many members are there in UNO at present?

(a) 150 (b) 192 (c) 142 (d)
ARG AT & 3RATE eTe B A?

(a) SNIMRIAFITH (b) <o IoT= =T

(c) AfagHe Rl (d) T 4 DIg &
Who was the temporary President of Constituent Assembly?
(a) B.R.Ambedkar (b) Dr. Rajendra Prasad
(c) Sachchidananda Sinha (d) None of these.

ifd # & ®I9 g9 I &1 |wre 87
(a) PRI (b) R (c) <effasr

Which one of the following ia a means of election campaign?
(a) Computer (b) Cinema (c) Television

10
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(d) HaT

(d) Fax



10.

11.

12.

AT olIh T 31ege] Phid 87
(a) ST TRIE e’ (b) ART FAR (¢) RIS DHowrard (d) GHAT Ferai

Who is the present Speaker of Lok Sabha?
(a) Udit Narayan Choudhary (b) Meera Kumar (¢) Arvind Kejriwal (d) Sumitra Mahajan

qEgHAl & BRI DI B A 87
(a) 5T HAT RN BT T3 (b) ISTUTA BT TR ST
(c) HZRT Pl fawmT o (d) SwRIg

What are the functions of a Chief Minister?
(a) Constituting the State Council of Ministers (b) giving advice to the Governor
(c) to allocate portfolios to the ministers (d) all of the above.

2004 & M FATd H Ugell dR DI AT LT BT FRIATA Farl?

(a) X (b) <dele (c) BUR WA (d) Soiagifva aifdT #ei=
Nmae the machine used for the first time in 2004 General Elections?

(a) Computer (b) tablet (¢) printing machine (d) electronic voting machine

III) € 91 Ted AR

(1)
)
€)
(4)

RT ¥ AETETTHS AT el ¢ |

ARA ¥ 39cdeT g1d Bl 2 |

9RT § U HIG Fomell & |

T i A UTTarel SHIGAR B sl =ifde fbar Siem 2|

AV) aifad ag 3O Y31/ Very Short Answer Type Question

(D)
2)
©)
(4)
©)
(6)
(7

Sfave faem o fhas ¥aw o ?
TORTSI &1 8 ?

RfRUET IS 9T B 7

ATHTAT TRl B DB aH Fe1 fbaeit g ?

W KHS e B9 4R Ugd 7
HfAGT HI ygell dob Ha gg o ?
AT ¥ 3T FIT AHSK 87

What do you understand by Sovereignty?
11



V)

(8)

)

(10)

(11)

(12)

13.

14.

15.

16.

17.

AT AT & Big IR BT I8y |

Mention any four functions of the Election Commission.

A SUARl & BRI M9 w7 A &7
What do you mean by the right of constitutional remedy?

AR fagre Ud g9 fadyue & o1 JfcR 9d1sy |

Mention any two differences between an Ordinary Bill and a Money Bill.

T FHT BT TS A |
Explain the composition of Gram Sabha.

TS IoHfad o b ded 87
Which poltical party is called the National Poltical Party?

SRS WA FU™ &9 gg AT?
When did the American War of Independence take place?

Tfaem feds v & 8 87

How many types of constitutions are there?

A T H el UIE e s YT Sl 87?
Presently where do we find direct democracy?

I & SABR | MU AT FAS 8?
What do you understand by Right to Information?

FAFCT &7 JIRBHR T argesg # o 87

Under which article is right to equality mentioned?

o SN 999 / Short Answer Type Question

(1)

2)
©)
(4)
©)

(6)

(7

®)

AFATRIGR FaT 8 ?
What is Human Rights?

REINEICHCR -

AT SO IS AT 7 7

Alda H gATd a1 3Maegd T ?

RO Gfde &1 g faRwarsii &1 goi= #ifog |

Explain the main features of Indian Constitution.

rseafcr BT Fafed 3 B 87 $Hd UgE JANBR 9T 57

How is the President elected? What are his main powers?

T G9d & IE BRI @7 87 S9D S & I 9ard |

What are the main function of Gram Panchayat? Mention the source of its income.

ISTAD Tl B BTl BT qui BT |

Describe the function of Poltical Party?

12



9. fogge e wgd 8°
What is a Bill?

10. foum= uRvg &1 dRIG fhd 897 &7 8T 27

What is the term of Legislative Council?

11. =0 fpds o_E & 89 &7

How many types of ministers are there?

(VI) <rd S99 91/ Long Answer Type Question

(1) AFARER & Jl e T 8 ?
(2) A dde wRg FEmell B Iy 3 |

(3) I ABR AATRH—2005 & UHE U@Ll B [GGFAT B |
Discuss the main aspects of Rights of Information Act-2005.

(4) #AURYE @ JHR Td HrAl B fAdgHT BT |
Describe the powers and functions of the Cabinet.
(5) TR HIf® AABR B—dbiF | 2?2 b2l 3T & IRT N |

What are our Fundamental Rights? Discuss any two.

(6)  frafes omanT & =8l uie 438 JffeR vd Rl &l ford |

Elaborate on any five important roles and functions of the Election Commission.

31249 / Economics

(I) Raa Al &1 gfd w¥ /Fill in the blanks.

(1) # I @ ARE BT RS [ U o © |
(2) T FiRE@T ST BT ST o &9 fpar T o ?
(3) fagme f&sfl gc & HRUT Ud SED @ IRAT BT 2 |
(4) TS U0 FlT TH G D oo =
(5) AR & STAR AWURA BT [ATI—TR oo g |
According to Marshal, the subject matter of Economics is ....................
6) BT ETH YBR BT RIS 918 STl 8 |
................... unemployment is found in agriculture sector.
(7) TR erfegamem (51 A referaRen &1 981 7§ |
.The mixed economy is the mixture of................. and.......cccceeeeeeen. economy.
(8)  WRA H Uy SAfaT M o SfeR 2 |
Per capita income in India is.................. dollors.

13



(1)

)

(10)

BERC LD EZACTITS A H o s T |

The New Economic Policy was introduced in..................

faeq TR FT6T BT AT ..o qE
The headquarters of World Trade Organisationis at ..................

I8l fdded &1 g-I1d & / Choose the correct option.

(1

(1

2)

€)

4

)

(8)

)

(10)

$N & &7 9 fHd ISR & RIS gl Sl 2 2
(@) frfera SRS (@) e SRS
(¥7) 3TGTT ISR (@) s | D13 e |

IRT ¥ RIS RIS &7 98 SR 8 —
(@) R AR &1 yad (@) Siefiexer &1 Hg i
(1) <roget Rrer yoredt (&) ST # gfg

ferferRaa & & HATSTaTd) srefayazern @t fagwat § —
(@) TMYUT BT 3= (@) D= (AT &1 3T

(1) WY I<IRGA (&) ATdSIe el B RATIAT

THTSTATST 21fIRE 98 Il ® STaf gl STl ©

(@) amfdfes wad=rar (@) qoa A

(1) oot wfT (@) ArdrTe aEfd

qRAfa® fAsie 1egs vl & —

(@) awgfRerfa &1 (@) Sferd srgfera @1

() =i gt &1 (@) 39 ¥ DI3 &I

Hlo AT & IR NefeH 7 —

(@) arxifade fa=m= (@) smeel fagm=

() < (@) 37 | DI T

frifed # B9 ScaTe BT A1 @ |

(a) fafrra (b) STSIR (c) ol (d) 7 &
Which one is a means of production.

(a) Exchange (b) Market (c) Capital (d) All of these.
STH ¥ o9 e A sreferaren 87

(a) RA (b) JTHAT. (c) fae= (d) H ¥ @13 &l

Which one of the following is a Mixed Economy?
(a) India (b) USA (c) Britain (d) None of these.

e IR GT6A FT JEATed Bl Rerd 77?
(a) ola (b) aTrRTeH (c) SiHar (d) <raar

14



Where is the Head Quarter of World Trade Organisation?

(a) London (b) Washington (c) Geneva (d) Tokyo.
1. 9Rd R B g AMRAP N P71 3777 87

(a)STRIHRIT (b) STHRT (c) TTIHT (d) SIRIaT |qH

A component of New Economic Policy of Government of India is?

(a) Liberalisation (b) Privatisation (c) Globalization (d) All of the above.
12. 9 H AASIATE] sefegaRen & o B9 A1 57

() 7R 7 BT < (@) a7 Fay

(m) |mfSe =g (81) Sere # i

Which of the following is a property of Socialist Economy?
(a) Machines are the Slave of man (b) Class conflict

(c) Social Justice (d) Increase in Production.

12. Wi |9 7 wiedfies Rietr &f Ad @ ol a1 99 R 9 fear?
CORSICIECAN (@) a1 Pfar
QESEIEEED (&) fT feee a@
Prof. Amartya Sen has given stress on Primary Education for man as a
(a) Fundamental Right (b) Fundamental Duty.
(c) unnecessary (d) Policy making factor.

(IID) ¥ AT Teld IdIS¢:

() «ifae olt Se &l |iha aed 2|
(2) Aifde Yol S@red &1 e afhd |9 © |
(3)  wifae ol @ emer Aar Yo &I SIS 156 AT 147 ¢ |

AV) aifad ag 3O Y31/ Very Short Answer Type Question
(1) T My fy FEd € ?
(2) 9 @ 3l 9 BIF-HF T ?
(3) War&d & foad uer g ?
(4) I W Y w7 [qES & P
(5) ool &= fory Fea € °?
(6) fedg ez 5 dead & ?
(7) IR e far Fr 8°

What is non-economic activity?

15



V)

(8)
)
(10)
(11)
(12)
13,
14.
15,
16.

17.

fofT arguTel & oMY AT |HSTA 27

What do you understand by sex ratio?

IR 31 a1ef e ¥ HfY &7 A5 IARI?

Mention the role of agriculture in the economy of Bihar?

qoTrardl sreferawer &1 a1 femay aarsa?
Mention any two features of capitalistic economy.

%] fAfHg gomrell @1 Pig a1 Sl garsd |

Mention any two drawbacks of Barter System.

JedIBROT | MY T A B2
What do you understand by Globalisation?

afdfep fohard fbdr ded 27

What are economic processes?

TR ¥ 379 T FESKT 57
What do you understand by provety?

IRA &1 fo<ia ot fae wed &7
Which is called the Financial Capital of India?

ufd afad oma 9w fhar <rar 27

How can we derive per capita income?

srefeme @7 8 ?

What is Economics?

oY SR 9349 / Short Answer Type Question

(1)
2)
€)
(4)
©)
(6)
(7
(8)
9.

10.
11.

12.

e W 3 T AHSI § P

o1 & JgE S a1 8 ?

fapRTier arfaaven & wed & ? 396! foRvan @1 8 ?
AR H IRV BT 9T A9 © 7

anfefes AT # Aa e &1 T IR 87

What is the role of human resource in Economic Development?
ferR 4 Y & Uegw & R ARy |

Describe the causes of backwardness of agriculture in Bihar.
T 3T o BT 87 9P & AT STl 287

What is National Income? How is it measured?

AR & A= ARBRI a1 &3 BT quie BT |

Describe different Government Service Sectors of India.

MY ¥ AT AT FHA © 7

What do you know about Income?

T02I0TH0 T & ?

What is A.T.M.?

I W faxi Hermy @ gy 8 ?

What are the National Level Economic Institutions?

Y& T SUE ¥ 3MY T FASK & 7

What do you understand by Net National Product?
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(VI) < Sa8d 939/ Long Answer Type Question

(1) TR & YT SRS &1 8 7

(2) ARSI H IERIER HAFI B F IAGT ¥ ? 39D TE HRE DI G |

(3) YR H RN & fAf= SRl &7 e HifvTy |

Explain the different reasons of unemployment in India.

(4)  SUHIET HRETT g ARBR T I8V MY FHaAl bl ford |

Write the steps taken by the Government for Consumer's protection.
5. HAQM T8 7

What is ‘MANREGA’?

6. fIRAT RT 57 THD UBRI I ARAT N |
What is Economy? Discuss the different types of economies?
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